103 DU HE/NE R D 25.6---0.01%2560- £ 7%k
AEBILAEIZI O HDOVET

when the number is
decreased to 1/10th, the 25.6 is the number with

decimal point shifts one digit | 2560 of 0.01 accumulated
to the left

325 321

32.4%10043 D1 L7=#K 5.14%10fEL7-3%

the number when 32.4 | 10 times of the number

is made into 1/100 5.14
326 399
STV IR B 5,142 100 L 73

an integral number
divisable by 2 is an even 100 times of 5.14

number
327 323
5 43 ZL7=%
26b@@3hf£b\$§§i%%ariﬁ 32.4% 1053 DL L= 3Kk
an iptegr al .m.lmber the number 1/10th of
which is not divisable by 32 4

two 1s an odd number
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round numbers up to the

T &<
0.21%. 0.0125MrZ? NN
h 0.01 ' .
ow marz)yz 5 are 1in Vel"tlcal
ANl
PVEIND(ET) VAT
until divisable parallel
J_ L. < 2
100 P EFTOBEL 5 il T

1/100ths

335

B () \c BB

through point 7”and a line
vertical to the line &

331

ENB1TF T OB

a round number of one

digit from the top

336

BB T
5 () SEAT 7R R

through point - and a line
vertical to the line \»
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ERAY. > ey abVl]

sides facing each other

1
10 DNLETOREE

round numbers upto the
1/10th denomination

337

N oA Ry
=i
angles facing each other Trapezoid
342 338
75“2: /_\g/:j L/\/u(-ﬂ,\
OUIB VAT LT
Rhombus

(diamond shaped)

343

a parallelogram

339

F DB T-TH A

the top points that face
each other

344

BTARDH2ODEMR

the two straight lines
meeting at point B
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Ly HA

XT%/@
approximat . .
Ppro © diagonal line
100DFEEED 3OO DFNLI80° 12725

a group of 100s

350

the total of the
three angles is 180
degrees

346

SEVEEAD

a theory (law)

AT DA>DH DT
360° 2725

the total of the 4 angles
of a square is 300

degrees
NS A 122990 RIEHS
transfer the decimal estimate

point two places to the
left

352
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DO mEEIL
X B

|~]
1
AN
.

The area of a

parallelogram =
base X height

357

INERLUL T DREBDOOIFEVE Y

Delete the last 0
after the decimal point

353

the upper side, base

358

BZMNTED/PNINEE,
1DONLIC0%EXE S

When the answer is smaller
than 1, write 0 in the
ones’ place

354

NI T~ A
=WIAD; ﬁi}i Ejﬂ
(FE+TE)XES+2
the area of a trapezoid =
(top + base) X height =2 base
OUEDOEH =AM

S F < KB R -2

area of a diamond
=diagonal X diagonal =2

360

KX mE+2

area of a triangle
=pbase X height =2

356




365

361

VAV
(TR17 L3370

approximate

366

362

5 LA

equal to 1/2
1 2 3 4

367

0.7 =

363

368

0.12

~ 100

364




HLIZTLE K6 DEEHE

the sum =
comparative —ratio

373

0.008 = 1000

369

N ny
< SAY
%/5\}$3 __ 21.:. (2t imes)

JJ T8 Y EEE
N—F | 20 A\ 40 A
percentage capacity applicants

374 370
50% IZIIJ = -

fifty percent

375

KoRD)E + (bEIZTD)E

RATIO = (comparative) = (sum)

371

EATD80% = EfMD0.8f%

80% of the price
=(0.8 times the price

376

CRvr =
BbEIZTHE X (FHE)

Comparative = sum X ratio
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. nY
% 7+~ 6 (0. 145 %18
_L:J.:&i: X 0.1 is 10%
1= 5
/m<om%®ﬁ
Percentlage «o.01is 1%
Y A
0.001fE%1E
X0.001 is 0.1%
N
381 377
12 _ 18 g
4T 4T ) 77
bar graph
382 378
2 , 4 _ 6/ 0 =
7 7 [7 1777
circular graph
383 379
7 _2_1B] 3 _m@] -
: 0 = o A =3| -4

384
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1 —10.25 - F—

; . 4 =~ 5
389 385

1 =102 = 7=

! . 5 =~ 7
390 386

1 ol

70 0.1 T— 8
391 387

2 1 1 _

392

388




20 % B|x

T 36
e T 0.36= —
100
20% off
397 393
007
ke 0.997= 7500
[6)
compared (to)
398 394
3
e DfE 1.3=175"
(O YA

399

value of the ratio

395

WH & TwdisA O S

400

30 : 50
720

30 to 90

396
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